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QUESTION 1

The following statement about ISIS (IPv6) is correct? 

A. In order to support the processing and calculation of IPV6 routes, IS-IS has added TLV232, 236 

B. By default, IS-IS has the multi-topology feature turned on 

C. IS-IS works at the data link layer and only needs to add a new TLV to support IPv6 

D. To support the processing and computation of IPv6 routes, IS-IS has added NLPID to the 129TLV 

Correct Answer: ACD 

 

QUESTION 2

In the laboratory network, the network is built according to the following topology diagram, SWI is the default
configuration, and SW2 disables the switch STP function. 

A. SG0/0/2 for WI enters the Discarding state 

B. SW2 and G0/0/1 enters the Discarding state 

C. SW2 G0/0/2 enters discarding state 

D. No interface is backed up for blocking 

E. SWI\\'s G0/0/1 enters the Discarding state 

Correct Answer: D 

 

QUESTION 3

After configuring the VLAN-based MAC address drift detection function, if the MAC address drifts, you can configure the
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actions of the interface according to your needs. Which of the following is not a configurable action? 

A. Send an alert 

B. The MAC address blocks 

C. Interface blocking 

D. Traffic filtering 

Correct Answer: D 

 

QUESTION 4

There is a new HW office that needs to use their router as a DHCP server. When configuring the DHCP server to
provide DHCP services to the current office, what of the following items need to be configured? 

A. Exclude unused IP addresses from the DHCP server 

B. Configure the timeout period for ping packets 

C. Configure the startup file for the DHCP server 

D. Configure manual binding 

E. Configure dhcp address pool 

Correct Answer: AE 

 

QUESTION 5

In MPLSVPN, in order to distinguish between IPv4 prefixes that use the same address space, the RD value is added to
the IPv4 address, and the following options are described correctly as ? 

A. RD can be used to control the publication of VPN routing information 

B. On a PE device, each VPN instance corresponds to an RD value, and the RD value must be unique on the same PE
device 

C. RD is encapsulated in the Update message as an extended community attribute of BGP during delivery 

D. After the PE receives an IPv4 route from CE, it adds an RD to the route to IPv4 that translates to a globally unique
VPN-IPv4 route and publishes it on the public network 

Correct Answer: B 
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